Bid #432-11153 - Curb Valves

Start Date Jan 22, 2013 1:17:01 PM EST Awarded Date Not Yet Awarded

432-1115301-01 3/4" Stop, Curb					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$40.54	300 / each	\$12,162.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: NL	ake Offered: AY		
HD Supply Waterworks, Ltd.	First Offer - \$42.20	300 / each	\$12,660.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B4	ake Offered: Ford		
msc waterworks	First Offer - \$44.25	300 / each	\$13,275.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
A&B PIPE & SUPPLY, INC.	First Offer - \$44.35	300 / each	\$13,305.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
Corcel Corp.	First Offer - \$45.00	300 / each	\$13,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: 20	ake Offered: Camb	ridge Bras	SS

432-1115301-02 1" Stop, Curb					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$62.26	800 / each	\$49,808.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: NL	ake Offered: AY		
HD Supply Waterworks, Ltd.	First Offer - \$64.75	800 / each	\$51,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B4	ake Offered: Ford		
msc waterworks	First Offer - \$68.00	800 / each	\$54,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
A&B PIPE & SUPPLY, INC.	First Offer - \$68.06	800 / each	\$54,448.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
Corcel Corp.	First Offer - \$69.00	800 / each	\$55,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: 20	ake Offered: Camb	ridge Bras	SS

p. 1

432-1115301-03 3/4" Stop, Curb					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$35.88	350 / each	\$12,558.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: NL	ake Offered: AY		
HD Supply Waterworks, Ltd.	First Offer - \$37.00	350 / each	\$12,950.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B1	ake Offered: Ford		
msc waterworks	First Offer - \$39.00	350 / each	\$13,650.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
A&B PIPE & SUPPLY, INC.	First Offer - \$39.21	350 / each	\$13,723.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
Corcel Corp.	First Offer - \$40.00	350 / each	\$14,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: 20	ake Offered: Camb	ridge Bras	SS

432-1115301-04 1" Stop, Curb.					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$55.76	125 / each	\$6,970.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: NL	ake Offered: AY		
HD Supply Waterworks, Ltd.	First Offer - \$58.00	125 / each	\$7,250.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B1	ake Offered: Ford		
A&B PIPE & SUPPLY, INC.	First Offer - \$60.92	125 / each	\$7,615.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
msc waterworks	First Offer - \$61.00	125 / each	\$7,625.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B2	ake Offered: MUELI	LER	
Corcel Corp.	First Offer - \$62.00	125 / each	\$7,750.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: 20	ake Offered : Camb	ridge Bras	SS

432-1115301-05 1 1/2" Valves, Co	urb				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$114.18	150 / each	\$17,127.00		Υ

p. 2

Product Code: Agency Notes:		Supplier Produ Supplier Notes: Model Offered:	: Make Offered: AY	
HD Supply Waterworks, Ltd.	First Offer - \$118	3.00 150 / each	\$17,700.00	Υ
Product Code: Agency Notes:		Supplier Produ Supplier Notes: Model Offered:	: Make Offered: Ford	·
A&B PIPE & SUPPLY, INC.	First Offer - \$125	5.68 150 / each	\$18,852.00	Υ
Product Code: Agency Notes:		Supplier Produ Supplier Notes: Model Offered:	: Make Offered: MUELLER	
msc waterworks	First Offer - \$120	.15 150 / each	\$18,922.50	Y
Product Code: Agency Notes:		Supplier Produ Supplier Notes: Model Offered:	: Make Offered: MUELLER	
Corcel Corp.	First Offer - \$12	7.00 150 / each	\$19,050.00	Y
Product Code: Agency Notes:		Supplier Produ Supplier Notes Model Offered:	: Make Offered: Cambridg	je Brass

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer	- \$166.98	125 / each	\$20,872.50		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Model Offered: NL	lake Offered: AY	,	
HD Supply Waterworks, Ltd.	First Offer	- \$179.00	125 / each	\$22,375.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Model Offered: B1	lake Offered: Ford		
HD Supply Waterworks, Ltd.	Alt 1	- \$179.00	125 / each	\$22,375.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Model Offered: B1	lake Offered: Ford		
A&B PIPE & SUPPLY, INC.	First Offer	- \$183.92	125 / each	\$22,990.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Model Offered: B2	lake Offered: MUEL	LER	
msc waterworks	First Offer	- \$184.00	125 / each	\$23,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Model Offered: B2	lake Offered: MUEL	LER	
Corcel Corp.	First Offer	- \$186.00	125 / each	\$23,250.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Model Offered: 20	lake Offered: Camb	oridge Bra	ISS

432-1115301-07 1 1/2" Valve, Bal	II Curb				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$166.09	500 / each	\$83,045.00		Υ

p. 3

Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: NI	lake Offered: AY	
HD Supply Waterworks, Ltd.	First Offer - \$169.00	500 / each	\$84,500.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B ²	lake Offered: Ford	,
HD Supply Waterworks, Ltd.	Alt 1 - \$169.00	500 / each	\$84,500.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B	lake Offered: Ford	,
msc waterworks	First Offer - \$172.50	500 / each	\$86,250.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B2	lake Offered: MUELLER	
A&B PIPE & SUPPLY, INC.	First Offer - \$172.78	500 / each	\$86,390.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B2	lake Offered: MUELLER	,
Corcel Corp.	First Offer - \$185.00	500 / each	\$92,500.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: 20	lake Offered : Cambridge E	Brass

432-1115301-08 2" Valve, Ball Cu	rb				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$233.49	100 / each	\$23,349.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: NL	lake Offered: AY		
HD Supply Waterworks, Ltd.	First Offer - \$245.00	100 / each	\$24,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B4	lake Offered: Ford		
HD Supply Waterworks, Ltd.	Alt 1 - \$245.00	100 / each	\$24,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Offered: B4	lake Offered: Ford		
msc waterworks	First Offer - \$256.98	100 / each	\$25,698.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B2	lake Offered: MUEL	LER	
A&B PIPE & SUPPLY, INC.	First Offer - \$257.11	100 / each	\$25,711.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B2	lake Offered: MUEL	LER	
Corcel Corp.	First Offer - \$260.00	100 / each	\$26,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: 20	lake Offered: Camb	oridge Bra	iss

432-1115301-09 1 1/4" Valve, Cur	⁻ b				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$90.87	50 / each	\$4,543.50		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: NI	lake Offered: AY		
HD Supply Waterworks, Ltd.	First Offer - \$97.00	50 / each	\$4,850.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B' with Padlock Wing-	Make Offered: Ford 11-555-NL		
HD Supply Waterworks, Ltd.	Alt 1 - \$97.00	50 / each	\$4,850.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: B' with Padlock Wing-	Make Offered: Ford 11-555-NL		
A&B PIPE & SUPPLY, INC.	First Offer - \$100.00	50 / each	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: H	lake Offered : MUEL	LER	
msc waterworks	First Offer - \$100.94	50 / each	\$5,047.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: H	lake Offered : MUEL	LER	
Corcel Corp.	First Offer - \$101.00	50 / each	\$5,050.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Offered: 20	lake Offered : Camb	oridge Bra	ISS

Supplier Totals

Ferguson E	nterprises Inc.	\$230,435.00 (9/9 items)
Bid Contact	Jason A Mueller jason.mueller@ferguson.com Ph 954-973-8100	Address 2361 NW 22nd Street Pompano Beach, FL 33069
Supplier Code	e 00000137	
Agency Note	es:	Supplier Notes:
HD Supply \	<u>Waterworks, Ltd.</u>	\$238,585.00 (9/9 items)
Bid Contact	Susan Helms susan.helms@hdsupply.com Ph 407-893-9002 Fax 407-893-7376	Address 501 W. Church Street Orlando, FL 32805
Supplier Code	e 00023494	
Agency Note	es:	Supplier Notes:
		• •
msc waterv	<u>vorks</u>	\$247,867.50 (9/9 items)
Bid Contact of	vorks greg panasuk david.guthart@fortiline.com Ph 772-408-1960 Fax 772-408-1963	\$247,867.50 (9/9 items) Address 8920 SW GLADES CUT-OFF ROAD PORT ST LUCIE, FL 34986
Bid Contact of	greg panasuk david.guthart@fortiline.com Ph 772-408-1960 Fax 772-408-1963	Address 8920 SW GLADES CUT-OFF ROAD

Supplier Code	0000016		
Qualifications	SB		
Agency Notes:		Supplier Notes:	
Corcel Corp.		\$256,300.00	(9/9 items)
Bid Contact	Ray Corona <u>paula@corcelcorp.com</u> Ph 305-636-1880 Fax 305-636-1897	Address 2461 NW 23rd Street Miami, FL 33142	
Supplier Code	00016631		
Qualifications	DBE MBE		
Agency Notes:		Supplier Notes:	

^ ^